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Trapezoidal Rule:

Let f'be continuous on [a, b].
f 20 e = 3R) + 2R 1A .. 25k ) +F]

where Ax = [—)-—a'—

and x; = QL+ kAX
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Simpson's Rule:
Let /'be continuous on [a, h].
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5.6 Numerical Integration

Used to evaluate a definite integral involving a
function whose antiderivative cannot be found.

Approximation techniques:

1. Tmpczo'ldaﬂ Rule
L-v'l'mpe.zo‘nds A=5h(5.*bb

2, S'xmpson\s Rule
Ly parabolas. .
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Example Use the trapezoidal rule to aPpl oximate:  y o=~
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Example: Use Simpson's Rule to approximate: Xp= |
2 ax=2= | %= 11
J —a’x n=10 ’ x1= 1.2
I'b
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There are formulas for computing the error in Trapezoidal
and Simpson's Rules.

If interested, see page 349. HOMEWORK

pg 350; 1, 5,9, 11
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